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QUESTION 1

You are configuring an EVPN overlay network. You want to ensure that leaf devices can respond to ARP requests from
locally connected hosts, when the leaf device knows the MAC of the intended destination.

In this scenario, what should you configure on the leaf devices to accomplish this task?
A. proxy ARP

B. static ARP entries

C. persistent MAC learning

D. IGMP snooping

Correct Answer: A

QUESTION 2

Which protocol replicates forwarding information between MC-LAG peers?
A.VCCP

B. ICCP

C.VRRP

D. LLDP

Correct Answer: B

QUESTION 3

You have deployed a VXLAN as shown in the exhibit Leafl, leaf3, spinel, and spine2 have been configured as VTEPs.
Host1 cannot communicate with host2.
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Referring to the exhibit, how would you solve this problem?

A. The VLAN ID on the link connected to host2 must be changed to VLAN 100.
B. A DCI connection must be created between the VLANS.

C. A Layer 3 VXLAN gateway must be configured on at least one of the devices.
D. Hostl and host2 must be placed in the same VRF.

Correct Answer: C

QUESTION 4
Which two statements are true about Virtual Chassis? (Choose two.)

A. The request virtual-chassis mode fabric reboot command will set the Virtual Chassis to fabric mode with similar
devices.
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B. The request virtual-chassis mode fabric reboot command will set the Virtual Chassis to mixed mode.
C. By default, Junos switches are in a non-mixed mode Virtual Chassis.
D. By default, Junos switches are in mixed mode Virtual Chassis.

Correct Answer: BC

QUESTION 5

What happens when a packet is encapsulated by a VXLAN before being placed in the overlay?
A. The QoS markings are placed in the VXLAN header.

B. The VLAN-ID is placed in the VXLAN header.

C. A VNI that maps to the VLAN-ID is placed in the VXLAN header.

D. The TTL is decremented by two and placed in the VXLAN header.

Correct Answer: C
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